| N of associated (recoToSim) duplicate tracks vs pT |

[N of associated (recoToSim) tracks vs pT_]

N of reco track vs pT

sxoe a1eandnp

107

S)dely aniy

095 === rgmaran

syoen

<
o
—

ST
e

o
-

k=)
=1 —

oney

0.95f - == -=rgmarnn

1

G’

2
P,

tra&lg

10

. Gedf’

2
p.

trag‘lg
DQM

10

ginal

| TT__ ori

N of reco track vs

3

2

0.95F - - - -

0.95F - - -

0.95F- - - -

syoen

track n

track n

track n

track n

| N of associated (recoToSim) duplicate tracks vs phi |

[N of associated (recoToSim) tracks vs phi |

N of reco track vs phi

3

2

sxoe a1ealdnp

0.95|

S)dely ani)

soely

track @

track ¢@

track @

track ¢



	Contents
	Page 1


